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QUESTION 1

A travel insurance product offers a combination of non-automated and automated services to customers, as shown in
the following diagram.

|
Travel insurance

Regular claim Regular T insurance
submission mutations CP policy
I

Online portfolio

management

Online claim :
submission

Which of the following is the correct relationship to be used between the product and the application services?
A. Product aggregates Application Services

B. Application Services aggregate Product

C. Product realizes Application Services

D. Application Services realize Product

Correct Answer: A

QUESTION 2

Consider the following diagram, which shows a relationship between two business objects: Which of the following best
describes the relationship shown in the diagram between Insurance Policy and Insured Individuals?
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Insurance Policy (‘\

1hsured Individuals
'

A. Insurance policy is composed of insured individuals

B. Insurance policy is used by insured individuals
C. All required information about insured individuals is stored within the insurance policy record
D. Insurance policy groups insured individuals

Correct Answer: D

QUESTION 3

Which of the following statements about ArchiMate viewpoint classification is correct?
A. There are three purpose dimensions and three abstraction levels

B. There are two purpose dimensions and three abstraction layers

C. There are four purpose dimensions and two abstraction levels

D. There are three purpose dimensions and four abstraction layers

Correct Answer: A

QUESTION 4
Consider the following statements:
1.

An application component is a self-contained unit of functionality.
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2.
An application component may perform one or more application functions.
3.

The name of an application component should preferably be a noun. Which of the following answers regarding the
statement is correct?

A. 1 and 2 are correct, 3 is not correct
B. 2 and 3 are correct, 1 is not correct
C. 1 and 3 are correct, 2 is not correct
D. 1, 2 and 3 are all correct

Correct Answer: D

QUESTION 5

Consider the following four diagrams:
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Which diagram depicts a "Policy application" as an application component with the two application functions "Offering”
and "Calculating"?

A. Diagram 1
B. Diagram 2
C. Diagram 3
D. Diagram 4

Correct Answer: C

QUESTION 6
The PRO-FIT automobile insurance division of ArchiSurance instructs its employees to watch carefully for claims that

may be fraudulent, and to file a Suspicious Activity Report if they suspect fraud. Consider the following diagram that
describes how PRO-FIT reacts when its employees suspect fraud:
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Which of the following statements is expressed by the diagram?

A. Investigations of suspicious activity can be triggered by report reviews

B. Suspicious Repair Activity Reports are reviewed before they are filed

C. Suspicious Repair Activity Report Filed is the process that always occurs first
D. The same people file reports and review them

Correct Answer: A

QUESTION 7

Consider the following four relationships, in the context of derived structural relationships:
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Which of the following answers lists the four relationships ordered from the strongest relationship to the weakest
relationship?

A. 1,234
B.1,24;3
C.4213
D.4,1,23

Correct Answer: C

QUESTION 8

The following diagram uses ArchiMate Motivation Extension concepts. The concepts at the bottom of the diagram fulfill
theconcept at the top of the diagram.
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What is the correct relationship between the bottom concepts and the top concept to show this situation?
A. access

B. realize

C. specialize

D. aggregate

Correct Answer: B

QUESTION 9

Which standard ArchiMate viewpoint focuses on the (internal) structure of a company, a department, or a network of
companies, and identifies authorities and responsibilities?

A. Actor Co-operation viewpoint

B. Organizational viewpoint

C. Business Function viewpoint

D. Business Process Co-operation viewpoint

Correct Answer: B

QUESTION 10

Which of the following phases of the TOGAF ADM correspond most closely to the ArchiMate Motivation Extension?
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A. Preliminary, Architecture Vision, Requirements Management

B. Opportunities and Solutions, Migration Planning, Implementation Governance

C. Architecture Change Management

D. Business Architecture, Information Systems Architectures, Technology Architecture

Correct Answer: A

QUESTION 11

Consider the following diagram: Which of the following best describes what this diagram represents?

A. A device with two system software environments. Two artifacts are deployed in one system software environment,
and one artifact is deployed in the other environment

B. A node with two devices. Two artifacts are deployed in one device, and one artifact is deployed in the other device

C. A node with two system software environments. Two artifacts are deployed in one system software environment, and
one artifact is deployed in the other environment

D. A node with two application components. Two artifacts are deployed in one application component, and one artifact is
deployed in the other components

Correct Answer: C

QUESTION 12

Consider the following diagram: Which of the following statements best interprets this diagram?
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A. Output generation is explicitly modelled as the collective behavior of the application components: Policy
administration application and Financial application

B. Output generation is an application service that is realized in a joint effort of the Policy administration application and
the Financial application

C. Output generation is behavior that is present in the Policy administration application as well as in the Financial
application

D. Output generation represents the application collaboration of the Policy administration application and Financial
application

Correct Answer: C
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